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SAHAE 20254

Oll&FRE== - 204

AHFE - ABIEXDI2

O =N S )

= & = Al &
& = =l HE =N sZ X&EH HEEX =N Z

g A 6,546,248 6,307,863 238, 6,546,248 6,307,863 238,385
sl 2 =] 0 XA AL I 109,400 116,400 A7,000
g2 S =] 0 0 0 0
oo 3 0 0 0 0
?oﬁxrgg éﬁ) 0 0 0 0
HE =33 = 0 0 0 0
ol Xl 2 3l = 6,355,732 6,120,300 = 6,436,848 6,191,463 245,385
o =~ =2 0 azdelzas 0 0 0
o X = ¢ 190,516 187,563 L2248 0 0 0
o B = ¢ 0 = 0 0 0




SIHAE 2025
OllabRba= - 201&F
SAHFZ ¢ MEI=RDI2

@ =4 EERE)
R s | SO | B2 &E U
200 M2l 190,516 187,563 2,953
210 3&HAN 2l 190,516 187,563 2,953
216 Ol At==& 190,516 187,563 2,953
216-01 Z30 S0l A== 190,516 187,563 2,953
O=g3 OIkt = 190,516
700 EM=USHLHEHH 6,355,732 6,120,300 235,432
710 B8-S 6,355,732 6,120,300 235,432
714 GIXI2&l= 6,355,732 6,120,300 235,432
714-01 OiXI=z2l == 6,355,732 6,120,300 235,432
Qe txl= = 6,355,732
= 2 g A 6,546,248 6,307,863 238,385




SIHAE 2025
Oll&bRb== @ 20 &
SAHFZ ¢ MEI=RDI2

@ XI&H e ool )
XE . S2.BH B - NEAY - BLS ney | foa | wms2
JIEd= 6,546,248 6,307,863 238,385
FHUAHSKIE 6,436,848 6,191,463 245,385
MLESOISH=1) 6,436,848 6,191,463 245,385
BEXNE(AIEEX12) 6,436,848 6,191,463 245,385
OIXIZ2 (A= X1012) 6,436,848 6,191,463 245,385
602 GlXI= 6,436,848 6,191,463 245,385
01 LBHHIXIZ 6,436,848 6,436,848 6,191,463 245,385
Oa3821& Xl = 6,436,848
2= 12,000 20,000 A8,000
25 2 otssX & 12,000 20,000 A8,000
BR(YR0HEXII12 2H3HAEISXIII2) 12,000 20,000 28,000
=028y 29 12,000 20,000 A8,000
307 SI2t0IH 12,000 20,000 A8,000
04 OCIZISHAIAIRIE X 12,000 12,000 0 12,000
O=0l=sgd = 12,000
= - A 70,000 69,000 1,000
(PSEE=YNESF 40,000 39,000 1,000
HE=XDI2 243 AEI=XIDI3) 40,000 39,000 1,000
G CHH 45t 40,000 39,000 1,000
201 Let2IY| 10,000 10,000 0
01 AtSR22ldl 10,000 10,000 10,000 0
Ou4&eld ¢8u=s 293 = 10,000
307 212t 30,000 29,000 1,000
02 QUIABAAIEE X 15,000 15,000 29,000 A 14,000
OLHES SE2AMY = 12,000
(@0 P-Er= = 3,000
04 CIZISHAIAIRIE R 15,000 15,000 0 15,000
O ME Qs XA(LHESF2H) = 15,000
s 2 == A 30,000 30,000 0
OIS=EXIDI2 243HASI=XIDI3) 30,000 30,000 0
XHotsdEH X2 30,000 30,000 0
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o Q SH &
3. oY D24 L XS
ST ¢ 205
OflatXte  =0]at
SIHTE © AEI=XDIZ (el &)
X o
acdg - X338+
H@ 3 2x2 pRE= (01Xt &) =2 | OIAt=8 | J|Et==¢
20198 DX 7,865,163 5,252,004 6,240 0 71,265 1,608,071 929,583
2020\ & 807,39 700,000 0 0 104 97,566 9,728
20213 & 183,112 0 0 0 100 52,09 130,917
20024 & 116,648 0 0 0 0 71,289 45,350
2003 & 36,914 100,000 0 0 0 206,686 20,228
2004\ & 196,125 0 0 0 0 187,978 8,147
202543 & 190,516 0 0 0 0 190,516 0
H 9,685,876 | 6,052,004 6,240 0 71,469 2,412,201 | 1,143,962




SIHAE 2025
Oll&bRb== @ 20 &

SIHRE - MIEXIDIZ2 SR X))
8 o
o T g HISTA | SXHEA | zsay | X2 A
AO | o | gl |2 olez | 2se | aoge | JENE | @O
20193 DX 1,063,020 981,040 80,000 0 1,980 6,802,143
2020 &= 92,193 92,193 0 0 0 715,205
20218 & 87,093 87,093 0 0 0 96,019
2022 &= 90,816 90,816 0 0 0 25,832
20238 = 1,690,106 78,6% 0 0 1,611,410 | 21,363,192
2024H &= 116,400 116,400 0 0 0 79,725
2025 &= 109,400 109,400 0 0 0 81,116
Al 3,249,028 1,555,638 80,000 0 1,613,390 6,436,848




SHHET : 2025
MARIS = 0at
SHTE  ABI=XDIZ cl E el
N OlXl
22 |oxi(EHH . -
POBHTUBTY | 2024 TLUBTHA® =2
A 6,120,300 6,355,732
MIXl=2 B | 6,120,300 6,355,732
SESYUI 6,120,300 6,355,732




